
�������������������
�������
��
	�������� !

x2

������������
���������	 ­��
	�
�� �	
­ �����������­������
����������� �	��
�� ��
	��������	�������������������­����������­�� 	�
������
	���
������­��� �	
����­	­�����������
� 

2mm Drill bit
12mm CSK

��������­�����������
� 	����
����������

������������������� ����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������
����������
����

��������
�������
������

������	�����­�	 ���� 	

����������
�������������
���������������
�����	�
������������������	��

�������­�	 ����	������		­	 ������­ ��
�
������
� ������	����� �� �
	��­���
���
	 �����
��� ������������������������������������

����­�������������
� 	��­�­ ����
�
  ���������� ��
��������
��  ­�����	�­����
��������

��������������������������������������������������������
�����
������	�
����������������
������������������������������������	����������	���������
�������
�����������
���������������������
���������������������������������������		�������������������	������������������
	�����
������������������	����
�����	�
��������
�������
�����������������
��
���������
���������������������������������	����
����������������������������������������

������
�������� ���� ������������������� ������� 
��� ��� ���
���� ������� ���������������� 
�����������  ��� ���� ��������� ��� ����
� ���
���������	�������������������������������������	��������
��

�������	������������������
�������

������������
���������
�
�	��������������������	��
�������­�����������
��������	��
������
���������������������
���������	�������������������������
�������������������������	��
������������������������������	�����������������������������������������
�����	��������
���������������������

��
��
������������������������������������������������������������������������������
�����������	����������������������
�
���	�������������������������������������������������	��������������������������������������������������������������

��	�������������������������������	�������������������������	����
��������������������
�
������������	������������������
	����������������������

��������������������������
�������������������������������������������������������������������������
������
�����
���������������������������

������������������������������
�����������������������������

�����
����������­�­�
��	��������������
��������
��
	������
��������
�����
��������������
��������
��������
����
���������������������������������
�������������������������
���
���������

��������
������������������	������������������
����������� �­���­��� �	
��­�� �

�� ­�­ 
� �
	�	
����	�	�­��	�����	�­��	����� ����	�	������� ����­�	 ����������������� ����	���� ������
������	
������

������� ���� 	����
���������
������ � ��������� ��� ������������ ������������� �����
� ���� ��� ���� 
������� 
���������	����
���
����	�������
��������������������
�������

�	�����	���������
�����
���������
�����������
����������	����
��

����������������
���������������������������������������������������������	�������������������
��
�������������	�����������������������������������
������������������������������������������������
�����������������������������������������������������������������
��������
�������������	�����������
�����������������������������������������
���������������������������������������������������
�������������������������������������������

�������������
�����
��������������������	��������������
����
����������������������������	������
��������������

��������
������������������	����
������
���
������	����������
������������	��������
������������������
��������������������������������
���������
�����������
������������������������
������������
������������������������	����
������	��	���������������
�
����
�����

��
� ������ ��� 
��
����� ��� ���� 	��
� ������� 
��� ��� ������� ����� ����� ����	�	��� ��� �
������ ��
�����������������������������
��
��������
�������������
����	����������������������		
������������
��	��
������	������	������

��������
��������­������� ������������­���
��������­����­�������������­����������� ������­���
�� ����� ����­��� ���­������� ������� ���� ��� ��������� �������� ��������� ���­��� ���
���������������������­ ���­�����������������­�������������������������­�������
�����������������­�����������������������������������������������������������
����������� ����������
�������������� ����­������­��������
��­������������������������������������������������

���������������������������	������
������������������������������
����

���������������������������
����
�
��������������������
�������������
�������������������

��� 	������� ������� �������
�������
�� 
�������� 	����� ������
���� �
���� ������ ���� ������� ����
�
��������������
�����������

 ��� ����� ��� �������
�� 
��� �����
����� �� ��	���������� ��� 
��
��
��������������
��	�������

����� ­����
� �������������

�������������������������	����������������������

�������� ��� �������������� 
��
�����������
�� ��� �������������������� ���������������������� ���������
� ���� 
����
��
�		��
������������������������������������������������
�
���������������
������������������
�������������������
������		����������������
��������������
��	�����������������
����������
�������� ���������� 
��������� ����
� �
���� ������� �
�������� ���� ���������� ������� �������� ��� ������� ���
�
��
���	����

�����������
������������������
�����	������



1!

��������� ���	
����	������������ ���	��� 
��
­��­��	�������

��������
��������������
�����������������������
��
��	��������
�������

������������
���������
�������������
������������
	��������

�������	��
���������������������

2!

3!50kg �����	�������

������������������� ����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

�����������������

��������
���������������

�����������������

��������������

������
 ����������
���������
�����
�������������
������	����������������������
��	���������
��������
�	����������
�����������	�
������
�¡�����������������
�������	��
������
����
����� ��������������
�
����� ��������	�������
�����������������������������
��������������������������������
��������������������
�
�������������	��
���������

����������

 �����������������
���������������������������������������������������������

�������������������������������������������������������

���
���������������������������
�����������������������������
������
���������������

���
��
�������������������������	�����

���
��
����������������	����
�������������������
���������������������������
�����
	��������������������������
�����������
������������������������������������������	���

������������	����
�����	����������	��
����	�������
������������������	�
��

���	��������	����
������
���������������

�		�
���	���������������������	������������������������������
�����������
���������������������������

�������������
��������������������������������������	����

���
�����������������������	���������
�����������	��������	������
�

���������
������������������������������������������������������������������������
�����

�����

�����������������������������������������
���������������������������������� ��������­�����������
� 	����
����������

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:

������������������

��� 
��� ���� ������� ����� 
���� ����� 	��	�������� ����� ���
���������� 	������ 
����
�� ��� ���� ���� 
�������� 	������ ���
���
������������������

������������
��
���
�����������������������������������
��
������������������������������������
������

���	­ ��
���	�����������
��������	����
���
����������
�����

�������­	 ­�	����­������ ���
���	����������	�������
��
�����

����� 
��� ����� ����� 	����
� ��� ������� ������������ ����¢���
���	� ����� ����� 	���������������� ���� ���������
��
��������



��������­�����������
� 	����
����������

����	���� �­������
� �����������­�	 �
� ­��	������
 
��������������������������������������������������������������

8

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  

�����������������

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step..... �����������������

Within the instruction step, there will be an icon in the top right that has a QR code in. This 
is where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The garden building constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your instructions 
carefully to avoid error. 

ACCESSING VIDEO GUIDES...



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Playhouse Options:
Take a look at the di�erent playhouse options below which refers to the instruction 
lea�ets required to build each option.

6x6 Pent Playhouse & Tower
SI-002-001-0114

6x6 Pent Playhouse, Tower & Slide
SI-002-001-0115

6x6 Pent Playhouse, Tower, Slide & Swing
SI-002-001-0106

Model

02DTSHPN0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)

02DTSHPN0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHPN0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)

6x6 Pent Playhouse & Tower

6x6 Pent Playhouse, Tower 
& Slide

6x6 Pent Playhouse, Tower, Slide & Swing

Build Instructions Required

6x6 Apex Playhouse & Tower
SI-002-001-0041

6x6 Apex Playhouse, Tower & Slide
SI-002-001-0042

6x6 Apex Playhouse, Tower, Slide & Swing
SI-002-001-0105

Model

02DTSHAX0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)

02DTSHAX0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHAX0606SFD2W-V1-PEFC  (Playhouse)
02DTTWR0707-V1-PEFC (Tower)

6x6 Apex Playhouse & Tower

6x6 Apex Playhouse, Tower 
& Slide

6x6 Apex Playhouse, Tower, Slide & Swing

Build Instructions Required



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Tower Set Up Options:
Take a look at the di�erent set ups below and decide which you wish to construct.

SET UP 1 
Ladder on the left side, with no slide.

SET UP 2 
Ladder on the right side, with no slide.

SET UP 5 (If purchased a slide) 

Ladder on the left and slide on the front-right.
SET UP 3 (If purchased a slide) 

Ladder on the left and slide on the right side.

SET UP 4 (If purchased a slide) 

Ladder on the right and slide on the left side.
SET UP 6  (If purchased a slide) 

Ladder on the right and slide on the front-left.

SET UP 7 (If purchased an Activity set) 

Ladder on the left, slide on the right side and activity set on the 
front left.

SET UP 8 (If purchased an Activity set) 

Ladder on the right, slide on the left side and activity set on the 
front right.



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 2168mm 
Length =2214mm 
Height =1625mm

Building Content:
2 31

Tower Base
AI-02TB1760X2156-V1

Bunk Floor 1
1760mm x 859mm

AI-S11MBISF1760X859-V1

Bunk Floor 2
1760mm x 1165mm

AI-S11MBISF1760X1165-V1

Ladder Step QTY 4
PRO2758-390mm

Corner Braces - 44x58x762mm QTY 8
F4458-G-802mm (762mm �nished length)

Front Post - 70x70x1625mm QTY 2
PI-04-0017

Rear Post - 70x70x900mm QTY 2
PI-04-0018

Safety Strip QTY 9
SR1260-600mm

Slide Framing - 44x44x475mm QTY 1  
F4444-475mm

Ladder Side Right - 27x95x1365mm QTY 1
PRO2795-1365mm

Ladder Side Left - 27x95x1365mmQTY 1
PRO2795-1365mm

Ladder Block - 44x44x372mm QTY 1  
F4444-372mm

Slide QTY 1
PI-10-0001

Centre Post - 70x70x670mm QTY 1
F7575-670mm

7

8

9

11

12

13

14

15

Long Rail
AI-02SR1204X600-V1

Short Rail QTY 2 
AI-02SR416X600-V1

5 64

10

16

Floor Panel - 12x121x1134mm QTY 1
MB12-1134mm

Floor Panel - 12x121x416mm QTY 1
MB12-416mm

17

18

70mm Screw x 3

100mm Screw x 23

150mm Screw x 8 50mm Screw x 16

60mm Screw x 19

30mm Screw x 16

40mm Screw x 50

Nail Bag



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Pre Assembly

Before assembling remove the transportation blocks from the bottom of each panel.

Take care removing the blocks as to not damage the panels. Tap with a �at headed 
screwdriver and hammer.

Dispose of the blocks once removed.

PLEASE SCAN HERE:

Step 1
Part needed -           &          

Place the Tower Base (No.1) onto a �at and 
level surface. 

Locate Bunk Floor 1 (No.2) on to the front of 
the Tower Base (No.1). Ensure the boarding 
on the Bunk Floor 1 (No.2) is at a distance of 
114mm from the front of the bunk framing, 
and the framing is �ush to the framing of 
the tower base, as shown in the illustration. 

Fix in place by screwing through the Bunk 
Floor boards into the Tower Base framing, 
using 40mm screws. Further secure the 
Bunk Floor by screwing through the 
framing of the Bunk Floor, into the framing 
of the Tower Base, using 6x50mm screws.

12x40mm Screws
6x50mm screws. 

1 2
1! 2!Pre drill 

hole

40mm 
screw

1

2

1 114mm

50mm 
screw

2

Step 2
Part needed -                 

Locate Bunk Floor 2 (No.3) on to the 
Tower Base (No.1). 

Ensure Bunk Floor 2 (No.3) is �ush to the 
framing at the back of the tower base and 
is positioned centrally, as shown in the 
illustration. 

Please note: There will be a gap of approx 
18mm between the two Bunk Floors (No. 
2 & 3)

Fix in place by screwing through the Bunk 
Floor boards into the Tower Base framing, 
using 40mm screws. Further secure the 
Bunk Floor by screwing through the 
framing of the Bunk Floor, into the 
framing of the Tower Base, using 6x50mm 
screws.

12x40mm Screws
6x50mm screws. 

3 1! 2!Pre drill 
hole

2

3

2

1

3

1

18mm

2

3

40mm 
screw

50mm 
screw



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Step 3
Part needed -           &           

Locate the Floor Panels (No. 7 & 8) 
onto the front of Bunk Floor 1 
(No.2) depending on which Set 
up you wish to construct, as 
shown.  

(If you have not yet decided on a set 
up, please refer to page 3)

Ensure there is at least a 70mm 
gap between the two parts, this is 
for the centre post (No.9).

Once in position, �x in place using  
3x40mm screws per panel. 

 6x40mm Screws

7 8

For set up 1, 3, 5 and 7 place 
the boards as shown above.

8 7

For set up 2, 4, 6 and 8, place 
the boards as shown above.

8

1! 2!Pre drill 
hole

70mm 70mm7

40mm 
screw

Step 4
Parts needed -           

Locate the Centre Post (No.9) in the 
70mm gap between the two �oor 
panels. 

Fix in place by screwing through the 
Tower base into the post at the front 
and underside using 3x100mm screws. 

Please note: this set up has been used for 
illustrative purposes, the process of 
�tting the posts is the same.

3x100mm Screws

100mm 
screw

9

9 1! 2!Pre drill 
hole

Step 5
Parts needed -            &            &        

 With the assembled Platform resting on 
one side, secure one of the Rear Posts (No.10) to 
the back of the platform. Use 2x150mm screws per 
post and secure through the top of the platform.

 Secure two corner braces (No.12) to the  
post using 2x100mm screws per brace. Ensure the 
braces are �ush to the rear post and Tower Base. 
Note: the post should be at a 90 degree angle and the 
corner braces should be at a 45 degree angle to the 
platform.

 To ensure the front post (No.11) is at the 
correct height, mark the height of the rear post on 
to the front post and position into the cut out 
section at the front of the platform as shown. 
Secure using 2x150mm screws per post.

Fix two corner braces to the front post (No.11) as 
previously and repeat the previous steps on the 
remaining posts.

Carefully position the platform onto your base 
and check that it is level.

16x100mm Screws
8x150mm Screws

100mm 
screw

150mm 
screw

A

C

B

10 1211 1! 2!Pre drill 
hole

50kg 

C

A

B

11

12

11

12

12
12

10



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
����������

Step 6

The platform is ready for the 
assembly of the playhouse on top. 

Follow the instructions provided 
with the playhouse. 

Ensure to �x the playhouse to the 
Bunk using the same �xing 
method mentioned in the 
playhouse instructions.

30mm 
screw

Step 7
Parts needed -            &           &           

Slot the steps (No.16) into the left and 
right ladder side (No.14 &15)

Fix in position using 4x30mm screws 
per step.

16x30mm Screws

15
14

16

161514 1! 2!Pre drill 
hole

1! 2!Pre drill 
hole

50kg 

Step 8
Parts needed -  

Locate the Ladder Block (No. 13) �ush to 
the top of the Bunk Floor and  27mm from 
the front of the front post, as shown in the 
diagram.

Fix in place by screwing through the block 
into the tower base using 2x60mm 
screws. 

Please note: This playhouse and set up have 
been used for illustrative purposes, �t the 
ladder block to the side of the tower base to 
which you will be �tting the ladder.

2x60mm screws

60mm 
screw

13

13

27mm

13



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
�����������
�����������������������������������������
�����������������������������������

50mm 
screw

Step 9

Place the assembled ladder 
between the front post (No.11) 
and the playhouse left hand 
side rail. 

Ensure the ladder �ts �ush 
with the post and the 
playhouse rail and �at to the 
�oor, �x in place using 
4x50mm screws as shown.

Fix in place by screwing 
through the ladder into the 
front post and playhouse side 
rail using 4x50mm screws as 
shown. 

Please note: This playhouse and 
set up have been used for 
illustrative purposes, �t the 
ladder to the side of the tower 
base to which you have �tted the 
ladder block.

4x50mm screws.

1! 2!Pre drill 
hole

50kg 

1! 2!Pre drill 
hole

50kg 

60mm 
screw

Step 10
Parts needed - 

Locate the Long Rail (No.4) into the gap 
between the front and central posts. 

Ensure the framing of the rail is �ush 
with the front of the Tower base and the  
front post (No.11) , as shown in the 
illustration.

Fix into position by screwing through 
the rail into the tower base and posts 
using 9x60mm screws.

Please note: This playhouse and set up 
have been used for illustrative purposes, 
�t the long rail to �ll the larger gap 
between the centre and front post.

9x60mm Screws

4 1! 2!Pre drill 
hole

50kg 

4



����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
�����������

60mm 
screw

Step 11
Parts needed -

If you are constructing Set Ups 1 or 2, this 
is your �nal step.           

Dependant on which Set up you are 
constructing, Locate the Short Rail(s) (No.5) 
onto the Tower Base, as shown in the 
illustration.  

Ensure the Rail framing is �ush to the Tower 
Base and Front Post. 

Fix the Short Rail (No.5) into position using 
4x60mm & 2x100mm screws per Short Rail

Please note: You have been supplied with two 
short rails, please �t both if constructing set up 
1 & 2. If constructing any other set up only the 
one rail is required to be installed.

8x60mm Screws
4x100mm Screws

5 1! 2!Pre drill 
hole

50kg 

SET UP 1 & 2

SET UP 5 & 6

SET UP 3, 4, 7 & 8 

55

5

5

100mm 
screw

5

Step 12
Parts needed - 

Locate the Slide Framing (No.18) to 
the Tower Base in the gap where the 
slide will be �tted.

Ensure the framing is �ush to the Top 
of the Tower base and centralised. 

Fix in place use 3x70mm screws.

Please note: This playhouse and set up 
have been used for illustrative 
purposes, �t the slide framing to the 
opening where the slide will be �tted.

3x70mm Screws

70mm 
screw

18 1! 2!Pre drill 
hole

50kg 

18



�����������������������������������������
�����������������������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
�����������

6

6

Step 13
Parts needed - 

Place the slide (No.6) into position 
centrally ontop of the Slide Framing. 

Fix in place by screwng through the 
slide into the framing using 2x40mm 
screws.

2x40mm Screws

40mm 
screw

6 1! 2!Pre drill 
hole

50kg 

SET UP 5 & 6

SET UP 3, 4, 7 & 8 

17

Step 14
Parts needed -              

Locate the Safety Strips (No.17) per 
rail in between the gaps in the rails 
of the playhouse side panel and 
tower next to the slide. There are 4 
Safety Strips per rail. 

Ensure the safety strips are �ush and 
level with the strips already on the 
rail. 

This is to help stop any potential 
hazards when using the slide.

16x40mm Screws

40mm 
screw

17 1! 2!Pre drill 
hole

50kg 

SET UP 5 & 6

SET UP 3, 4, 7 & 8 



����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

�����������������������������������������
�����������������������������������

��������­�����������
� 	����
�����������

SET UP 5 & 6

SET UP 3, 4, 7 & 8 

1! 2!Pre drill 
hole

50kg 

Step 15
Parts needed -            

Locate the remaining Safety Strip 
(No.17) onto the inside of the Rail 
closest to the Slide, ensuring it is �ush to 
the front support post. 

Fix using 2x40mm screws per part of the 
top and bottom

This is to help stop any potential 
hazards when using the slide.

2x40mm Screws

40mm 
screw

17

17

17

If you have purchased an Activity Set, 
please refer to the Activity Set instructions 

to �nish constructing.

We strongly recommend applying a impact reducing surface around the 
base and slide. Also a 2 metre safety perimeter around the building free 
from obstacles and potential hazards.



����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������­�����������
� 	����
�����������

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back

Playhouse Maintenance:
It is recommended that the following checks and maintenance are carried out at the beginning 
of each season as well as at regular intervals during the usage season.

- Check all nuts /bolts/ screws for tightness and tighten when required.

- Check for movement / opening of wood giving rise to protrusion of nail heads and tips.

- Check hinges.

- Replace defective parts in accordance with the manufacturers instructions. 

- Check any crossbeams, suspensions and anchors.

- If a swing is included; check the swing seat, chains and ropes.

IF THESE CHECKS ARE NOT CARRIED OUT THE ACTIVITY TOY COULD BECOME A HAZARD

��������������������
Want to share your experience with us? 
Leave us a review on Feefo, TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



����		�
���	����������������������	�������������������	����������������	����
����������
����������	����������������������������
�����¢��������
�������������	���
�	�������
���������
�������������	��

������������������������������
��	����
��������������	��
������������

���	���� ���� ������ �
� �������� ����� ��
� ������� ��� ��
��������
���� ��� ���� ������
����������������������������
����

������� �� ��
� ��
� ��� ������ 
���� ������� ���������� ��� 
��¢��� �	��
���� ������� �����
���������	���������������������
���
��

��������
���
��������
����
������������
������
�����������	��������������
����������
��������������������¢�������
�	�����������������
�����������
�����������������������
������	������	�����������
������������������������	������

��	���������������	��������������������������
��¢���	��������������������

¡��	�	��������������
���������������������
�����������������
��������������������������

��������������������	����������������	�����������	���������������
��������������������

 ���� ��
� ��	�� ��� ���� ��������¢�� ���
� ����� 
����� ��� ����� ������� ��� 	������� ������ ����
�������������������������
����������
����������������������������������������������������
���	�������������������
�
������������������
�
��	�����
������������������������
���	�
���� �������� ��	�� ��� ��� ��� ����� 
���� ���������������� ���� ����� ���� ������ �������� ��������
£�������������������������������������������������������

��������
��		�
��������������
����������������������	����
��������������������	��
���������

�����������������������
�������
��	�����
���
���������		�
����������
�����

����� ����� ���� ��������� 	��������� ���� ������ ��� ���� �����
�� ������ ��	�
����
� �������
��������
��
��������
��������������
����������

�����������������������������

�������������������������¢����������� ������������ �����������
�
������������	�	����
��
��������������������� ��	����������		�����
�����������������������������
�� ����
������������������������

����������������
���������������
����
������������������
������		�����
�����
�����������������������
��
���������������������������
��¢���
��
����������������
��¢�����		
����������
���
���
���������������
�	��
�����������	��	����������������������������������
�����������������������	��	���������
�
�������
���	�����������������
��������������������������������������������
�����
£��	���������������
��������������
�������������

�­������ ����
­��­��	�������������	�������������������������	����
��������������������
�
������������	������������������	��������������������
���		
������� ����
­��­��	������������������	������������������	��������������������
�������­�	¡��	
�� ��������������	���������		�����������������������������	���������������������	������������������

������������������������������������� ����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

��������������������

�����������
��������������

��������������������
��������������������

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:

��������­�����������
� 	����
�����������



����������������������� ����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

���­ ­��������
��
	����­� �������
��������
����������������������������
��
����������������
������
����������������������������
�����
�����������������������������������������������������������������

�����
��������������������
���������������������������������������������

�����
������������������	�����������������������������	������������������������������	��

�����
���������

����	��
������
�����	���������

�����
�����������������
�������������
�������

�����
����
�
��������������	��������������
�����

������������������
�����¤�
��
������������������
������������	���

�������������¢��������������������������������������������������������£���

���­�� ��

���
�������������	������������
����	����
�����������������������������������	���������������
���
����
�����������������������������������������
������
���������������������������������
�������
����
����������������������������������������	�	�����������������
��

����­�

���	�
�����������������������������������	����
���������������	������
��
������������������������
�������������������

�����
�����
������	������������������������
��������������
����������	������

��
��������������

����

���
��
�����������������
�������������	�����������������������������������������
�������
����
�
��������������������	�������
����
����

����	����­����	

��	�����������
�����
�����
���
�����������������������������
�������
��������
���� ���
�	������������£����������������������	��������
���������������������������������������
��������������������

�­�

�������
������¥���	�������������		�
������
������������������������
����������
�

�����	������ 	

��� ����������� ���
��
������ �
������������������� ����������
� ������
��������� ������ ��� ����

�������	�
���
���
��������������
�����������������������������������������
�����
���	�������� 
������� ���������� ��� ������ ��	������� ���� 
�����
����� ��� 	������� ��	�����
����������	�		������������	����

��	�

��� ��������
����
���������� ��������������� 
������������������������� ��� �������
��������
�������������
�������������������
��

������������������������

�­�­��

�������
����	����
����������
�	�������������������	����
���������������
��
���
���������
�������������	�����������������	�	������������������������������������������
����������	�
�����������������
��������
�������
�����������������������	���������

��
������������������������������
��������������
���
��������������
����
����������������������
���� ������� ���������
�� �������� ������ ���� �������� �	��� ��������
� 
��� ���	� 
������ ����
������������������������	�

���������­�


�����������	��
��
�����
�������������������������������
����	����
����������
����������������

��������� ����	� ���� ������� ������� ����� ���� 
�������� ���
�� ���� ������ ��� ���	� ����
����������������
�������������������	���������������

�����
�������
��������������������

���� 	����
�� ���� ������ �	� ��� ������� ��
�� ��� �������� ������� ���� ������� ������ ��� 
�����
���������������������������������

1

2

3

4

5

6

7

8

9

��������­�����������
� 	����
�����������



�	������­	����� 
������ ��­���­ ���
�����¤�� ����
� ���������­���

���­��������������­��� ������ ������������ ��� ����
������
�������� 
�����������
������������������������������������ ���������������������
���������������������

������� ��� ���� ������� ����� ���
�� ��	������� �	��� 	���������� ��������������

��������������
������� ������� ��� ���� 
��	������� ������� ��������
� ��	����������

�����
������ ��� ���� 
��	������� ��
� ����� ���������� ��
� �

���� �� �����
�����	�������� ���������� ����� ���� ������ ��� ���������	����
����� ������������ ����
���
����������������������������

������������	�������������
����������������������������������������������������
��������	������������������
�������
������������
��	��
������������������
��������
������� ������ ��� 
��������� �¦��� ����� ����� ��
� ��� ������� ���� ����� ��� ����� ���
	�������� ����� ���� ����� ��� 	������� ��������� ������� ���� ��� ������� ���� ������
�������

�����������
�������������������������������
�����������	�
����������
���
���������������
���������������������������������
�����������������������	�
����
�
���������������������
���������������
��������������������������������������
��������������
��������������������������¦�����������������������
����
�����������
������������

��� 	������� ���� �������	� ��� ���������� ��� ��
������� �������� ���� ����� ���
�������� ��� 
���� ��������� �	��� ����� ����� ��� ������ ��� ������ ���� ������ ���� ���

��
������� ��� ����� ������� �������� �������� ���� ��� ���	� ������ ��� 
���� �������
�����������������������������
���������������������������������������������������������
������� ����� ������ ��� ����� ������� 
���� ��������� ��� ��
������� ������ ���
����������� 
������� ��� ������� ��� ���� ��� 	������� ��� �	��������� ���
�� ��� ��¦�
����������
�����	���������
��������
��������������������

���­ 	�� �����	� ���� ��� 	� �� ���� ��
� ����
�� ������ �	����� ���� 
��
��� ��� �����

��	������������������
��		���������������������������������������������������
���
����������
��������
��������������������������������
��������������������������

�����������
��������������
������������
���������������

�����������������
��

���������������������
��		������
���������������
������������������������
�����������
�������������	����������������������������������
�����
�����������������	����������
�������
�������������������
�����������������	�
�������������������������������
��
��������������������������
������������������������

 ������������
�������������	������������
��������
���������
��������������������	�������������������
�����������������������������	�������
��
������

������������¥�����������������

����������������������������������������������������������������������������
��������
�������������	������� ��������� ����������������������
��������������
��
������

��
�������������������������������
���������§���������¢�

��������������������������
��������������������������������������������������������
����� ���� 
�������� ������� ������	� ���� ������ 
�������� �� ���� ��� ���� ������ ����
	���������������������	�������������������������������

����������
������������������������������������������������������������������
������������������������������������������������������

�

������­��� �����	������
�
����������
­��­�����2

���������������
��������������¦������������	������������
�����������������������
�������

�����������������
�����������������������������������������������������
���������

������	��������
����������������	��
����
�������������������������������������
���������	����������������
������������������������������

����	­��� �����	 �	
­ ��������� ­�������
�
����������
­��­�����1

�¦���­�	 ���� ­�����

��
��
�����������������������������������������������������������������������������
��
������������	����������������������
����	�������������������������������������
������������	�������������������������������������������������������������

��	�������������������������������	�������������������������	����
������������������
��
�

�����������	������������������	���������������������
��������� �������� ���������� �� �������� �� �����	����� ���������� ��� 	������� ������
��������
���� ����������������� ������� ������ �� ���� ��		����� ���������� ���� �������� ��
	���������������������	������������������

��� ����� ��
������� ������ �� ����
��� �������� ��� ���� ������� ���� �������� ��� ����
�������� ��� ����� ��� 	�������� �¦��� �������
� ���� ���������� ��� ����
� ����� ����
���������

�������� �����
�������� ������� ��� 
��
���� �������
� ���� ��	��
��� ��� ������
�

�������
�

3

4 ����������­� ���������������������� ��­	 ­�	�

��	���	��������������������������������	�
���������
��������������	�����������
������������������������������
����������¦�������������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������

������������������������������������������������������
�����������
��������
��������������������	����
��������������
�������������	�
�������������
��������������
������������
���������������������������������
������������������
����������������
���
�����������	����
��������
��������������������
�����¢����
�������������������������
�������������
�������
�������������
����������	����
�¨

��������­�����������
� 	����
�����������

��
���
��	
���	�������

�����
������
��������������
������������������

��������������������
������	�������
��
������



��������­�����������
� 	����
�����������

�����������������

��������
���������������

�����������������

�����������������������

�������
���������������
������� ��		�������������� 
�����������
��������	�������������
������
�����������
���
������������
����������
������������������	��������	������������������	����
��������
�����

������������
���������������������
�������������������

���

��������������������������
�������������������������	���������
���
�
��������	������
����������������������������	��
����������������������
������
�����������������
�������
��������������������������
��������������������������������������������
�������������

�����
��������������������
����������
�����¢����
��������������
��� � ���� ��������� ���� ���� ����� �������� �������
� ��� ��� 	��� ���� ������
�����¢��
��
��������������	���������������
��	���������	�������������������
�����
���������������������������������
����������������������������	���������		�����������
������
��� � ���� ��������� ���� ���� ����� ���
���� ��� �� ��������� ��¥��� ����� ������ ������ ������

��
������������������	��
������	������������������������
©�������������������������������	��
����������������������������
�������
��������������
�������	����������
�����
������
��
���������������������	��������������������
ª�������������������������������
����
��
�����������������������������������������������
�������������	��	���
������������
�������
�������������£�����������������������������������������������������
�������������
��������������������
���� � ��
� ������� ���� ����� 
���� 	���
��� ��� ���������������� ����������� �		��
������ ���
�		������
�����������������

���
��� 
���¥	������� 
1 2 �� ­��� ��
���� ��

���
��� ������� �����
��� ����� �� ��� 
���� ��������� ���������� ��� ���� ��	� �������� ���
	��	������
�������������������
������������	����������������	����
�������������������

����������������������������������
�
���������������������
������
����
��� ��������� ���� ���������� ���� ��������� ����� ��� �������� � ���� ��������� �������
������
�����¢����
��������������������������
�����������	���������������������
�
�����������
�������¦���
������������������������
������������������	��������	������������������	����
��������
�����

�����������������������������������
�������������������

���

�������������������������
�������������������������	���������
���
�
��������	������
����������������������������	��
����������������������
������
�����������
�������
��������������������������
���������������������������������������������
�������������

�����
��������������������
����������
�����¢����
��������������
��� � ���� ��������� ���� ���� ����� �������� �������
� ��� ��� 	��� ���� ������
�����¢��
��
��������������	���������������
��	���������	�������������������
�����
��� � ���� ��������� ���� ���� ����� ���
����� ������� ��� ���������� ��� 	��� ���� ��		�����
������
������
��� � ���� ��������� ���� ���� ����� ���
���� ��� �� ��������� ��¥��� ����� ������ ������ ������

��
������������������	��
������	������������������������
©�������������������������������	��
�������������������
�������
���������������������
	����������
�����
������
��
���������������������	��������������������
ª�������������������������������
����
��
����������������������������������������������
�������������	��	���
������������
���� ���
������������� £���������������������������� �������������������������
�������
��������������������������
���� ���
� ����������������
����	���
���������������������� ������������		��
���������
�		������
�����������������

����	���� �­������
� �����������­�	 �
� ­��	������
 
�����������������������


